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Identify what the underlined pronouns are referring to in the

following extract.

By far the most common social organisation in
the world today is that of the state; the first
example of this type of society emerged in
Mesopotamia, around 5000 years ago. States
differ from hunter-gatherer bands in that they.
are not egalitarian, the society has 2
hierarchical structure, meaning it comprises
strata; they are more complex than chiefdoms
as they comprise several communities rather
than just 2 few, and have a centralised
government with power over religion, war,
law and taxation; there is also heterarchical
differentiation within each stratum as well as
hierarchical distinctions. There are various
characteristics of the state that can be
recognised  archaeologically  which are
outlined as a starting point; however, 2n
important part of a state s the ideology which
binds its people together, and
see in the archaeological record, particularly

is harder to

before people had written records. This makes
it difficult to explain why societies became
more complex and eventually formed states.
This paper will look at the explanations
advanced by Wittfogel, Carneiro, Manx and
Flannery, as well as the more recent post-
processualism theory.

that = social organisation

they = states
it =the society.
they = states

this = ideology which binds
people together

This = Being hard to see in the
archeological record





